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Lecture: 21
Ikka-getsu de dekimasu

—y A T HRET

I can do it in one month

Konnichiwa,”~ = /A2 5 /7@ and welcome to the class in the second lecture series on
tIntroduction to Japanese Lianguage and eCulture. So, today's class is a continuation of the
previous class and in the previous class we did potential form for group 1 and group 2. So,
now this time we are going to do for group 3 which has two verbs and you know that it is
suru,” 7" 5@y and kuru.~ < 5. So, let us see what we have today and what all we are
going to do with these two verbs. Now I have your kaiwa -~ == 77F) and you listen to the
kaiwa ~ %77k and see what all you can understand.
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Rao: Watashi wa raigetsu Nihon e ikimasu.

Mira: Ii desu ne. Doshite ureshiku nai desu ka?

Rao: Jitsu wa, Nihongo o hanasu koto ga dekimasen.

Mira: Ja, ima kara Nihongo o benkyoushite kudasai.
Ikkagetsu ni sukoshi gurai wa dekimasu yo.
Watashi wa ‘Ikkagetsu de Nihongo o naraimashou
to iu hon o motte imasu. Sono hon o Rao san ni
agemasu. Desukara, shinpai arimasen.

b

Rao: Arigatou gozaimasu.
Mira: Gambatte ne!

So, you just heard the kaiwa =753 between Rao@ =) and Mira@). So, let us see what
it is. I will go to Japan next month. So, this is an expression which you have done a number

of times that is really good. Doushite ureshikunai desu ka~ > 5 L C J40L<72l> T
7 72?@*) eOver here demo.~ T% could also have been used but why are you not
happy? Now wureshii.~~ 271 L ) is an adjective and how do you make negative of
uresshii,” 971 L\ @=)? Remove the i\ @) and put ku arimasen.” < &V FHA

&) we have done this earlier.

Now why is nai 72\ @) over here? Nai~ 7%\ @) is plain form for arimasen. & V) F
/). So, now we have to use it in plain form because desu -~ T 7 this-is over here. So,
doushite,” & 5 L TE@E) is why; doushite ureshikunai desuka,” &5 LT 57 L <20

T9 7?@) yYou can make it for other adjectives also akai 5 7>\, takai ~7= 7>
@) and remove the i\ @) and put ku < @) and nai 72V @E). So, that makes a
negative for adjectives. Jitsu wa~~ L2 /Z,@) actually speaking if I have to tell you the
truth; the truth is that so, that is what jitsu wa~ > /7@ means. So, why is he

depressed or not happy because he cannot speak in Japanese.

Now this is what we are going to do over here. So, if you do not know Japanese ja~ [
@FB) in that case then in that case well ima kara % 75,88 from now nihongo o
benkyou shite kudasai,” HARzH % 9 LT < /Z&0, pleased™) start studying-
Japanese. lkkagetsu ni.”—+ } (Z,@) in a span of 30 days; ikkagetsu~—+ } one



month; so you have done this book, hon~ @) which is called ikkagetsu de Nihongo o
naraimashou,”—#» H T HAEXE #& 560V FL & 9, this hon watashi wa motte
imasu/ A& F 1% FFo T WFEF. Sono hon ni Rao ni san agemasu,” <D K IZ

74 A 2 EiPET @R 1 will give it to you, this ni /@) over here is ‘to’.
Desukara,” T 7256, @) so shinpai arimasen.” /[LH! & Y £ /,@8) you do not
have to worry anymore and Rao san@&) says arigatou gozaimasu.” & V755 5 T X1
¥ 7. @) Hhe could have also said sore wa ii desu ne., arigatou gozaimasu,” <41 4
Wy TT A, HVAE S ZTXWET Gambatte ne /T o T @R you
have done gambatte 73 /13> T@) a number of times.

So, informal because they are both friends, ganbatte ne.”73/./4 > T 72 work hard at
your Japanese. Ikkagetsu de sukoshi gurai wa dekimasuyo,”—+ H T 2L <6

/4 TEFET L EF)-Se-they-should-FE) you will be able to learn a little in a span of

30 days or one month.

(Refer Slide Time: 05:03)
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Now this is in your script, watashi~ . kanji@ is there; raigetsu.” K H, nihon.~ H K,
@) then you have Nihongo ~ [ A Fk) these kanjidH=) keep coming up again and again
so, it is always better. There is sukoshi -~/ [ @) over here sukoshi. -/ @) means little
it shows quantity. And then you have shinpai L/, iu.” = O @I)-yeu. So, all these are

there practice this kanji. So, that you are able to read fluently.



(Refer Slide Time: 05:44)

group — III verbs

suru/¥% shimasu

kuru<s shimasu

Now you just heard the kaiwa =578 between Rao 7 7 @) and Mira < 7@&). Today
we are going to do group 3. We have already done group one potential form verbs in our last
lesson. So, the two irregular verbs of group three; can someone tell me what they are? Well
they are kuru < 5@y and suru. 7 5@,

(Refer Slide Time: 06:05)
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LA Lot SEA /
kuru ., koraremasu/masen ___ cancome/cannot come

<% kohFEY /I kohFEA
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1

Now the potential form for suru "7 5@k is dekiru.~ T & @) which means can do and
kuru,~ < @) changes to what kuru~ < 5@ changes to korareru.” = 5711 5@k in
potential form, which means I can come I have the ability to come. So, now in our last lesson
we learned noun ga dekiru. 7% T & 5@y for example Nihongo ga dekiru.” H AR5 73

T & 5@). Now let us see some sentences and see how it is done.



(Refer Slide Time: 06:50)

— I ES
ru —— / dekiru — a phrase meaning can do

i 2
Noun)|ga dekiru NE*i-gs(:*‘?‘ wa %ﬂh

Sore wa dekimasen/dekimasu / (& TEFJ/TEELA L

; Lo BHETNY
Watashi wa Nlhongog? dekimasen/hanasemasen.

FF BEXRFE A BEETEEFEA TEFEA.

/\’1/""'0" MJ\MJ‘W
wa<ir’%hi—ii kar @n ekimasen/dekimasen.

O HE X —FHE T TEFHAITEEEA.
ni-shi kan _EF5>LWM

P mikka / =H ’)Dg'bfs-
\_}}’y ni-ka getsu / —H 8 &qu’\jo i

So, suru.” 7 5@ ) as 1 just now told you is dekiru.~ T 5@) and these are group 3
irregular verbs; why they are irregular? Because you can see from suru@) that it does not
have anything to do with suru "7 5@ the verb itself changes. So, noun ga dekiru.~ 73

T& 5. Nihongo ga dekiru.~ HAGEF 73 T& 5, 1 have the ability to speak in Japanese.
Eigo ga dekiru~ 7534 75 T& 5@H). So, I can speak in English, I have the ability or the
potential to speak in English. Now sore is a pronoun, so, again same thing; sore wa dekimasu

S F4r /d T& £ 77 You could point at something or somebody has asked you and you
are saying sore wa dekimasen.” =41 |4 T& E /@) 1 am unable to do this activity.

For example gorufu ga dekimasu ka ~ =/ 7 73 T&ZFET 2? lie, gorufu ga
dekimasen. V> 2, =7 3 T& F /.6 you have a lot of examples today.
So, watashi wa Nihongo ga dekimasen.Fi |4 HAGE 73 TEXEFHAEHE) it is
similar to watashi wa Nihongo ga hanasemasen. #. (4 (ZIFA T 23 GHFHA,
@F) now the important part over here is that we have ga_~"7 @) for potential form. #In this
case we just change the i~ 'F over here and make it because it is s/ie it is a syllable. So, we
just put a seay over here and it becomes potential form in case of suru. "7 5@) we change
the verb itself. Now you can see kono shigoto wa ichi-jikan de dekimasu.~ = @ (-5 |+

—HFff] T T&ETF or dekimasen TZ F /4,8 why de” Cthey— over here?



Because within this period of time kono shigoto wa dekimasen.” = @ (3% |1 T *
A, @) I cannot do; sore wa dekimasen.” 41 |4 T& FHAFH.

Similar to this one sore wa dekimasen.”Z41 |4 T £ /M) or kono shigoto wa
dekimasen.” = @ (1% |4 T& £ /) but if we put time over here, then what
happens? Ichi-jikan de.”—IF[l] T @)-eanthey within that allotted time within that time
period. So, instead of ichi-jiakn ~—/F[/] @) now you can have any time expression these
are time expressions we have done them. So, ni-shuu kan de dekimasen ~ _#i[] T T&
E A, mikka de dekimasen,” —H T T&F ¥ A, 64 three days; ni-shuukan.~ 4
[HidF) is two weeks three days and ni-ka getsu.~ -~ H@) is two months. So, kono
shigoto.” = @ {1y could be replaced with organizing conference or preparing a
paper writing an essay anything. And you can give I can do or I cannot do in a certain period
of time using particle de.” CER).

(Refer Slide Time: 10:21)

N koto + dekiru ability

Nihongo ga dekimasu / dekimasen

BAE N TEET/TEEEA

Now if we add the noun koto. "= & to dekiru~ T & 5, verb + koto ga dekiru.” = & 73
T & 5@k is similar in meaning to the potential form done in lesson 20. Koto.~ = &

&) is a noun and when it joins with a verb it turns into a noun phrase and then it can replace
the noun in the noun ga dekiru.~73 T & 5 @) pattern.
(Refer Slide Time: 10:43)



G@ga dekiru /N # T3

So, Nihongo ga dekiru” HA:E 75 T&5, gorufu ga dekiru”=/v7 735 T3,
saikuringu ga dekiru” V2 V22 75 T& 5@ it could be anyone it could be
watashi ~ F @) or it could be chichi or haha ~ /¥y anyone wa - /Z@Fk) something ga
dekiru 7% T& 5. So, watashi wa Nihongo ga hanasemasu,” 7 |14 HAXGE 75 &%
% 7@ now when I add koto.~ = @) to this verb over here, what happens?: So, it
shows that this part becomes a noun phrase can be used as a noun and the rest remains the
same ga dekiru.” 75  T& 5. @) so, you will see noun which is over here and if we have
verb plus koto. "~ & @) this koto.~ = & @) which is a noun itself this word and is added

to the verb then these two make a noun phrase.

Meaning remains the same with this and this and this, the meaning remains the same;
grammatically yes they are a little different but meaning wise it does not change. Now where
it changes and what happens? I will tell you right now.

(Refer Slide Time: 12:03)



V+ koto ga dekiru ——— activity of the verb

Verb plus koto ga dekiru.~ = & 73 T & 5@ basically means the activity of the verb
you could say it shows that the speaker has the ability to do what the verb is saying. Well the
difference between noun ga dekiru.~ 73 T 2 and @) verb plus koto ga dekiru.~ = *

2 TE SEFD.
(Refer Slide Time: 12:21)

V+ koto ga dekiru ——— activity of the verb

formal

N ga dekimasu ———  ability
hanasemasu

informal

|

Is that noun ga dekiru.~ 7% T 5@ is very, very informal you could use it with friends
informally casually it is more colloquial whereas verb plus koto ga dekiru.~ = & 73 T
5@ is more polite and formal and to be used with seniors and in very formal situations.

You have a lot of examples today. So, you can practice with those.

(Refer Slide Time: 12:44)



V(dic. form) + koto ga dekiru — shows ability to perform an activity.
* Shows that Noun can do Verb.
. Particles are used in this construction.

‘;\" wa (V plain) + koto ga dekimasu,

Jhﬂﬂi_liu /&% koto ga dekiru

43).\\ la’b,ti'_lll 'B%
Nihongo hanasemasu/ B&ZE A° #FEFEI.
NihwhW)deki;u)// BAE £ #95 1%&3‘7/

N v
Nihongo no shinbun ga yomemasu / HA&RZE O #HE A

Nihongo no shinb_l!ﬁ 0 yomu koto ga dekiru.
BXEOHME SZLCL TES,

—B| T 2O MER E B S A TEEEA

o
Urusai node koko de benkyou suru koto ga / dekimasen.
243 OT ZCT 5@ 946 & A TEFXHA.

e
é\chiﬂichi kono shousetsu o yomu koto ga dekinai.

The important part over here is that in this construction wa /7@ and ga 7 @) both
are used. So, you have noun wa "/, watashi wa~F;  |3@) verb in plain form plus kozo
ga dekimasu.~ = & 73 T& % 7,@) you can very well understand; why it is in plain
form over here? Because we have a verb in masu "5 7% form write at the end. So, you can
see hanasu koto ga dekiru 759 =& 7Y T& D) taberu koto ga dekiru ®-~X5

Z & 2 TE5@B. So, what taberu koto ga dekiru7=~N5 & 3 TE5H?
Niku wa taberu koto ga dekimasu 1A 14 B~X5 =& 75 T&FJ. Nihongo o
hanasu koto ga dekimasu.” HA75F Z 59 Z& 23 T&FE 7 ,6FD) I can speak; |

i

can eat meat. Now you can see these examples, Nnihongo ga hanasemasu.” H AN 705 Gf
% 7@MD again and again the same constructions are coming you can of course use them

with other verbs as well.

This is just to make it very clear in your minds; how it is used and what particles are going to
be used where. So, Nihongo ga hanasemasu HAKzH 75 &% 9. Dare” 7=41?
Watashi wa Nihongo ga hanasemasu,” 74 1% HAGE 75 FtF 7E@8). So, you will
see ga~ @) is being used Nihongo o hanasu koto ga dekimasu,” H A:HF & G579
Z & TEETE. So, this activity of talking; what? Nihongo ~ H ANi%,
basically meaning is the same but grammatically it is a little different construction wise. So,

hanasu koto ga dekimasu.” 559 =& 75 T& F 7@ somewhere 1 have put it in



plain form, some places I am using masu~~F 7~ s-form the reason here is just to show that

these two mean exactly the same.

And can be used in exactly the same manner only the level of politeness degree of politeness
varies this is informal and this of course is formal. So, remember masu ~~F 7% form is
always formal and the plain form is more informal to be used with friends. So, Nihongo o
hanasu koto ga dekimasu,” H 7% g 2 & Y T&F . @) Tthis act of
talking in Japanese this activity of talking in Japanese I can do or I am able to do basically

meaning I can talk in Japanese.

So, now Nihongo no shinbun ga yomemasu.” HAXzHE @  Frf 75 JLOF T, simple
construction noun ga.~/3 verb in potential form; nohongo ga yomeru,” HAKzE 75 Fidd
5, @) again 1 have put plain form over here. So, Nnihongo no shinbun o yomu koto ga.~” H
Kati o il & Frde Z & 7@ so, I can read the paper in Japanese basically
that activity of reading paper in Japanese I can do I have the ability to do. /chi-nichi de.”—
H T, in one day; ichi-nichi.~— H - one day, one day de kono shousetsu o yomu koto ga
dekinai T Z & /hi & gide & 2% TERU@H)they 1 cannot read this
novel in one day. So, span-time-span,~time span with particle de.” C@). Urusai node koko
de benkyou suru koto ga dekimasen,” > 5 XV DT ZZ T #k 45 Z&

2 TEFEHAL Urusai 9 5 S 0@ it is very, very noisy, node ) T | they again
kara.~ 7> 5>@¥) can be used as equal to node > T@I) only it is more polite; benkyou
suru koto ga dekimasen Wji# 5 Z & 25 T&E FEUA ke~ 1 cannot study

over here.

(Refer Slide Time: 16:25)



V+ Koto ga dekiru ) -
Gz At nm

Imouto wa mainichi oyogimasu / oyogimasen.
R BE BEEFET BEEECA,
; Cwram
(o
Imouto wa oyogemasen”/ oyogemasu.

WX KIFERA/EKTET,

Watashi wa ovogu koto ga dekimasu / dekimasen.

Flx k< & A TEFT /I TEFEAL

Kanji o kaku koto wa muzuKashii desu / #F% BIL (& #LL TY,
R

Mira wa koukou no toki kara ryuugaku suru koto o @angaete imnsu>

S5k BED £E hb BYTSE & £ ExCLET,

Then you can see imouto wa mainichi oyogimasu ~ % 4 1 H KX F 7 F-o-dE)
swim she swims or oyogimasen 75 J. & & 1 /A Fk) she does not swim. Instead of imouto
1@ ) again you can use any noun that you want imouto wa oyogemasu.” 4 % KIT
% 7@ can swim and cannot swim. So, this is over here and this is over here, then watashi
wa oyogu koto ga dekimasuF, 1% k< & 2 TEFETE or dekimasen.”
T& F 144 basically 1 can swim and cannot swim oyogu koto.”#5J. <" = L@y the
activity of swimming I can do or cannot do. Now, kanji o kaku koto wa muzukashii desu 7%
ox #EHES ZE ok LI LV T7 @) now you will see something different
over here same construction kanji o kaku koto.” /%5 2z #< = » @) the activity of

writing kanji wa muzukashii desu. 1% Zp 77> L 1>  T7 .

So, we cannot change that there is no potential or ability shown over here, it is just simple
that kanji o kaku koto wa muzukashii desu, 7257 % ZH< & 2 oL
T, @F)-this it is difficult. So, you can see it can also be used with adjectives. Now Mira
wa koukou no toki kara "< 7 /L EiK O L& 5 @) from the time of high
school ryuugaku suru o kangaete imasu 77 75 # HEx T 7. @) Sshe
has been thinking of going out for studies; ryuugaku " & 2 73 < @) is foreign studies,
suru koto o kangaete imasu, 75 & & ADZ TV FE T there is no dekimasen
S C& F A over here~@FB) So, you can use this construction in a lot of ways with
adjectives with te.” C@¥) form of the verb with different verbs.



(Refer Slide Time: 18:31)

Rao san wa o hiku koto ga dekimasu. ! *:7'
SHEA 1 E— £35K T A TEFES,

Ul

<) 37/

kaku/yomeru

74

Rao wa hiragana o yomu koto ga dekimusu.kaku koto ga dekimasen.
A VohlE & BE C& A TEET. TH B T A TEFHA.

ol
Rao wa hiragana o yomu koto ga dekir kaku koto ga dekinzﬁ?";:\-
>

AT VohilE & BE C& A TED [TETEBIEN TERL,

Now look at this picture and see what is this gentleman doing? He is playing the guitar. So,

gita- o hiku % — % /<@ is the verb and I think I have told you why we use
hiku.~ 0 < @). So, well @) he can play the guitar; can play the guitar and gita- ~=F % —
@) is done in Japanese gita-~F % —, hiku.”"7| < @y and hikeru.” TN T Z@EH). So, you
can see over here gita- o hikimasu.~F % — 2 (& F 7 @) | play the guitar; gita- ga
hikemasu,”F % — 73 (MT F 7 ,@3) 1 can play the guitar, gita- o hiku koto ga dekimasu
S ¥ & —  z FJI< 7Y T& E 7@ again can play the guitar. Now there is another

picture over here of these two and there is lot of kanji and hiragana written.

So, somebody is giving a pencil, what is it? Rao wa hiragana o yomu koto ga dekimasu.~~7
TEA 1L OeRR & Fide Z& 3 T&FET, he can read, demo, kaku koto
ga dekimasenu.” Tt, #FE< & 2 T&E FHA T-them. @) So, she is giving the
pencil for him to practice. Rao wa hiragana o yomu koto.” 74~ |+ O60572 Z i
7p = & @ he can read but cannot write. Rao wa hiragana ga suki desu.” 7 4~ |4 O
L3 Y 4F&  T7, @F) can also be used he likes reading hiragana; hiragana ga
yomemasu,” NS 7378 7Y FEéD F @) instead of yomu, @i e, hiragana o yomimasu
S OBR & G4 E 7,0 he reads he can read, yomemasu i) E 7 ga suki
desu 73  9°& T97 ga 73 will come over here with suki~4f & @) because you are
stating something, ga suki desu.” 73 4fZ T7. Now instead of demo T &, @) you



can also use kedo /7 £ @) and join the sentence. This is sentence one and this is sentence

two with kedo 17 @) you can join, with demo. T & @) you have to start another

sentence to show contrast.

Rao wa hiragana o yomu koto ga dekiru kedo, kaku koto ga dekinai,”” 74 |4 N5 037%
& gilr & N TES5 PE ES O ZE A TERL. @B sSame

meaning but using another conjunction which is very, very informal over here it is more

colloquial so kedo.~I} &, demo.”” T (k) is more formal.

(Refer Slide Time: 21:26)

Watashi no shumi wa cycling desu

B L X Y1900 5 TYT
My hobby is cycling

Now you have done shumi~" L & Z@) in your last series and maybe during revision I have
told you about shumi L b Z4Fk) for example watashi no shumi wa saikuringu desu~ F4
D LA (L Va2V TI or watashi no shumi wa suugaku desu

D LA (L HF T or watashi no shumi wa yachoukansatsu desu.” F4 O
LA 1F °bEI20AID T Gyeyehngthisor-For-FE) Yachoukansatsu
K25 k9 74 X0 which is bird watching.

(Refer Slide Time: 21:49)



‘Watashi no shumi wa shashin desu.

o &k ¥ BRE TY,

. et SO
Mira wa shashin o toru koto ga suk1 desu.
S5k BHE & Wb & A KEFE TY,

e Corrnt

Watashi xwa shashin o toru koto ga dekimasu.
H # W% & A ©EFEJ, LKLP"?)’
S%shm o toru koto@ watashi no shumi desu.

BH # Wb Z& & f @Bk TY,

So, let us see what we have here=; shashin 5 F is photographs I like taking
photographs.-F¥) So, taking pictures she likes. So, Mira@ ) likes taking pictures - shashin
o toru koto ga suki desu .~ FEH # L5 Z& 3 4F& T Wwatashi wa shashin
o toru koto ga dekimasen F. |+ FHFH & +t&5 Z& B TEFEEAGD 1
cannot take pictures.-@) So, cannot take pictures; who? Watashi~ #, watashi~ # @) can
again be replaced over here by any noun basically name, tomodachi -~ % i, otousan.” 355
XA, okaasan,” FHFS A, sensei” L4, any one@). Now we have shashin o toru koto
wa HGEH # +t2%5 Z<& 14,@ this activity is watashi no shumi “Fi D L
4 @) my hobby, I like doing, I have an interest in. Wwatashi no shumi desu.” #. O

LA T3E) or watashi no shumi wa shashin o toru koto desu,” #. @D L &

/1 HFE & L5 & T9:.@B both ways you can use it both sentences are

correct.

(Refer Slide Time: 23:13)



A S en wa@gdatta /B 1T E5 otz
de n.lkatta / J:( 'Cé’&b‘of‘ M
_,.N,j
A: Sense @' anashlmashlta ka? / ﬁiw

B: Dekimasen deshita / TEFHATLE:

N, \w’/ %

\/{ ashinakatta / SELGEA T

Mﬁ::asenakatta | EdlEhot=, C‘Q’U‘Q’L N} @;‘)
dekimasen deshita / TEE#ATLI=, M’ LAJO
hanase keto g debinakatin | ¥ cLATEGH-SA,

Ale o Indk:
MUM

Now look at this shiken wa dou datta.”7#E 14 &9 /2272 dou” & 5 @) theagh
is how; dou datta &' 5 /=5 /=. Yoku dekinakatta,” & < T&Z727>> 7=, negative past
negative; dekimasu,” CT&Z £ 7, dekimasen” TX FEW A, dekimashita TEF L7z,
dekimasen deshita.” CZ A TL/-@) So, the plain form is dekinakatta ~ T &7z
2o 7@ and yoku ~J. < @) you have done, yoku ~J. < @) means not to that extent
over here, otherwise yoku " J. < @) means lots or many showing amount you have done in
lesson 20. So, yoku.~J: < dekinakatta ~ T & 727> 7= ) has a negative meaning over
here I could not do that well or that much. Now sensei to hanashimashita ka.~ 54 & 5%
L* L7z 7 Dekimasen deshita” T F# A T L /7-,@E) I could not talk to sensei
k@) you have a r0.~ - @) over here, now you have done 70 issho ni. & —fF 12,
&) can someone tell me, what 7o means over here? Well it means with, watashi wa
tomodachi to issho ni pikunikku ni ikimashita” # 1% KXK/7Z=6 E—fflc o =>7
IC IT& F L 7. @F)piente Went with my friend.

So, sensei to hanashimashita,” E4 & G5 L F L /=, over here means with sensei
IE/E, sensei to hanashimashita,” 7G4 & 5 L FE L/7=;@) 1 talked with sensei 54

&). So, two people were participating in the conversation you were talking and he was

advising. Now if 1 say sensei ni hanashimashita.” 554 12 55 L F L /-@8). So, over
here you were talking and sensei was just listening; tomodachi ni hanashimashita~ 475

(2 & LF L7z tomodachi ni iimashita” X726 12 S0 F L7-,@F 1 told him



something and he listened to; fomodachi to hanashimashita.” %75 & il E L7,
@) there was interaction between two people. Then hanashinakatta 57 L 727> 7-@Fk)
did not talk; hanasenakatta. % L 727> /- could not talk, did not; then dekimasen
deshita.” CZ £ A T L 7-@) could not do and then hanasu koto ga dekimasen deshita
kT 2k TEFEHA T L@ 1 was unable to talk or could not talk.

You can see the difference now in all of these. Practice this with other verbs and you will

understand it better.

(Refer Slide Time: 26:13)

Benkyou o shimasu / 15 # LFJ,

Benkyou ga dekimasu
E A TEFEY

Benkyou suru koto ga dekimasu.

ﬂﬁm TEET.
QOyogu koto ga deklru to 0m01masu) m
X< CE B TER & BLET,

Lspaew %i/
(Y, A abdd /& Caju&() Sﬁ_,,\ﬁ‘os =

v
Ikka-getsu@ sukoshi ﬂihongo ga dekiru to Mira galiite lmash1t|>
—MA T FIL BFE A TEH. & 354 LoTLELE

Now look at this benkyou shimasu.~ #5% L & 7 @)= 1 study; benkyou ga dekimasu.~
Mo 73 T& FJ@ 1 can study; bekyou suru koto ga dekimasu,” it 95 I &
7Y T & F 7@ this activity of studying I can do now; oyogu koto ga dekiru to omoimasu
Sk 2k oy Tc&s L i E 7@ you have done 1 think I can. So, dekiru
S TE 5@ can do, what activity? Oyogu koto 7k <" = L@ swimming and fo
omoimasu,” & 1> F 7@ is I think I think I can swim. You have done it with hanasu
koto, 759~ Z &; you can do nomu koto EXZr Z &, to omoimasu. t  JHINET
@F). If you want to ask someone oyogu koto ga dekimasu ka -7k <~ =~ & 25 TEXFEF
7>?¢F) then this has to be used particle ka7 @¥). Now you can practice it with your
partner then, ikkagetsu de sukoshi Nihongo ga dekiru to Mira san ga itte imashita,”— - H
T AL HAGE B TEL L IT73A B FoT WELEEFB. So,

J



we just did de " C they-within that span, sukoshi~/ | @k a little @F)-atitthe-niiiongo ga
dekiru.” HAGE 73 T& @B can do, to Mira ga itte imashita.”» I 7 73 Fo
T & L /= we have also done this.

This is indirect, she was saying that you can learn Japanese in a period of one month, sukoshi
b L @) Japanese little bit of Japanese you can learn in a period of one month. So, this
also we have done and this also we have done you can revise it here and practice with your
partner.

(Refer Slide Time: 28:18)

A: Kondo no kinyoubi wa yasumi desu. Nani o shimasu ka?

CAE O £EB X K& TT.LRIZ & LET H7?
@ Terebi o miru-minai / FLE % R3-#&7%4LY,
# Nanimo shimasen / shite imasen / 7212+ LFEHA/LTLWEHA,
_ T e—
o W

* Eigao mitai—mitaﬁlﬁ: / BREE Rz - =Ly,

» Nanimo shita i Zxis -{FLy TT,

Now let us go back to our dialogue in lesson 20 where we have used nanimo.~ 72 1= & k).
So, what does nanimo .~ 7¢(Z & @) mean nani 72 1@ plus mo. & ?@F): So, well
when you join this question word nani 72 (Z@¥) plus mo.~ & @) the meaning is in

negative the verb at the end will always be in negative and the meaning is nothing; naninio

tabemasen.” 721Z % BNFE WA 1 will not eat anything. Nanimo mimasen,” 7212 %

i & /) T will not see anything. So, you have these examples over here.

Gozen-chuu kurasu ga aru kedo nanimo nai node, ikeru to omoimasu,” “FEiH 2 7 X

Bk sS rE picd vy oT, vbits & HiEJ @) So, this was the
sentence where nanimo.”72(Z & @) is given and you can see nai node.” 7¢cV> DT,
because there is nothing thus I think I will be able to come. Now nani o nomimasu ka? .~ {i]

& BAET 0 ?@F) wWhat will you have? Juice o nomimasu,” > = 7 X %



kA F 7. Nani o tabemasu ka, i % R-FF  72°? Pizza o tabemasu,” E™ &

7= F 7. @) So, what will you eat or drink?: So, you can answer accordingly. Now
nanimo tabemasen.” 72126 X FE U A,6) 1 will not eat anything or nothing nanimo
tabemasen,” 70IZ 6 BXFEH A, nanimo nomimasen, 7LIZH LA EH AL So, now
you will see that after nanimo.~ 7212 &, 0.~ 2@ is not used. Well o~ 2@ is optional

you may use may not use generally o~ 2 @) is not used.

Kimochi wa wakaru kedo, nanimo dekimasen.” <##6 1% P75 1TE, 2IZH T
& £ #A,@) Cannot do, nanimo.” 72 (- &, @) is nothing. So, kimochi.~ & ¢ HEE) is
feeling wa wakaru kedo. 1% #7225 |7 X theagh I understand but nanimo dekimasen.”
izt TEFEHA 1@ unable to do anything, it is a feeling of regret. Nanimo
shimasen.” 72128 L EH A, 1 will not do anything; nanimo kakimasen.~ 7212 &
& F 1A ,~F) 1 will not write anything; nanimo hanashimasen.” 7012 % i L EW A
@FB). So, you can use nanimo.~ 72 (Z ¢ @) like this with different verbs with negative.

Now, kondo no nichiyoubi wa yasumi desu.” 5 /& @ HIEH |4 (KA T9. Nanio
shimasu ka. i % L FT 7 Terebi o miru,” 7 L' E° % J 5, @8 1 will watch
TV; terebi o minai.” 7 L £ 2 42720, @) 1 will not watch TV; then, nanimo shimasen
Sz L EH A 1 will not do anything. Kondo no nichiyoubi wa yasumi desu.~ 5>
o HEER (4 (KA T9. Nani o shimasu ka 1o % L F7 7°? One
answer could be nanimo shimasen.” 7212 % L F# /8 I will not do anything; not do
anything.

Now you have something very interesting over here, what is this? Nanimo shimasen.~ 7%=
4 L EU A8 1 will not do anything; nanimo shite imasen.” 72126 L T FHA
&) 1 have not done anything. So, someone can ask you; what have you done? Nanimo shite
imasen.” 72124 L Tl F#/4FE) 1 have not done anything it is not my fault. Eiga o
mitai, WHE]  Z 572V mitakunai 5 72 < 72V @) 1 want to see; want to see and do
not want to see. So, I am giving you these examples again and again for you to understand

better. Nanimo shitakunai,” 7216 L /=< 720 @) or nani o shimasu ka1 % L



%9 7@k 1 do not want to do anything on a Sunday or on a yasumi -~ {K%@Ek) day a
holiday. I hope this is clear now.

(Refer Slide Time: 32:28)

SHEh 1F BF F |HEFT,

ao san wa kanji o kakimasen. OL«;—M’Q/ WAL
SAEA 1T BF E | HEFEA

b whle
ao san wa Kanji o kakitai desu. M

FHSA & BF T |BEEL T,

yRao san wa kanji o kakimasu.

ok A

Rao san wa Kkanji o|kakitakunai desu.
SASA [F EF & EEALWL TY,

Rao san kanji o kakimashou. L&/"g M"’Q: /W

SHEA.EF & hEFELLD,

So, now I have written a lot of forms that you have covered so far. So, we will just compare

these forms and see what they mean and how they are used? Rao san wa kanji o kakimasu.~
74 XA I HEF & FHEZFE T Rao san) writes kanji; Rao san wa kanji o
kakimasen.” 7 4 XA |4 BT & & FHAL, Rao san@) does not write kanji.
Then Rao san wa kanji o kakitai.” 74 XA |1 #F & ZFEE7Z0), Rao san@FB)
wants to write kanji; Rao san wa kanji o kakitakunai 7 4 X4, |4 JEF & FHE =
< 720 @) does not want to write. We have done this construction a number of times, we
are just comparing this part. Rao san, kanji o kakimashou.” 7 4 X A, JET Z2 ZExFE
L - 92, Rao san let’s writed™) kanji. Oer Rao san kanji o kakimashou ka7 4 XA &
Tz FHEXFEL kD 7 shall we write kanji. ) tetus-itis-rightdeani-GHD)-we-write-
(Refer Slide Time: 33:41)



SUSENLN o

Rao san /Q(anji ga kakemasu.
SFEA EF B hHFERA

Rao san wa kanji o kaku koto ga dekimasu / dekimasen.
SHEA 1T BF & B L N TEFT /| TEERAS

lboidy oatf be b v wrle

Rao san wa kanji o kaku koto ga dekiru to omoimasu.
SHEA 1T EF & B It A TES & BEUFT,

Then there is still more Rao san wa kanji o kaita hou ga ii.” 7 4 XA 14 T # 2
W2 IE S 75 @) it is better for you to write kanji; then, Hana ima asobanai hou
ga ii. 76 4 WEITeU 1FS 735 @) it is better that you do not play now. So,
negative do not play, again practice for hou ga -/ 5 7 @) same thing here in negative
as well, earlier one was past Rao san kanji o kaita hou ga ii to omoimasu.”~ 7 4 A JE5
z Fe iFo 2 by & N E T @) 1 think that it is better that you
write in or write kanji. Then ashita hayai node, ima terebi o minai hou ga ii to omoimasu.~
WH Fi oT, 4 TLE & @R IEF5 B8 i & BnFESER
I think it is better that you do not watch tv as it is going to be very early tomorrow. Rao san

wa kanji o kaite imasu.” 74 XA 14 JEF Z FO T F 7,6 Hhe is writing it

is in present continuous. Rao san, koko ni kanji o kaite kudasai =~ 74 A, =2 12 J#

& FH T F &), @) Pplease write kanji over here.

Then Rao san kanji o kaite mite kudasai.” 7 4 XA T # T AT /X
V), ) fanj-okay-meet-a-dd) Rao san, please write and see; Rao san wa kanji ga kakemasu
SIS A I EF Y FFE 7,6 he can write; then Rao san wa kanji o kaku
koto ga dekimasu” 73 XA 14 HEF & FS & TEET EH—he
has the ability to write in Japanese it could also be the-dekimasen ~ T & F 4/ AFk) in

negative.



=Then Rao san wa kanji o kaku koto ga dekiru to omoimasu,” 7 4 XA, 14 EF &
Z< 2k o TEs L B FE 7,8 1 think he will be able to write 1 think; he
will be able to write in Japanese. So, there are lot of forms here today all that we have

covered this is a quick revision. So, please go over these and practice with your partner.

(Refer Slide Time: 35:48)
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So, today I have requested professor Sudhir Misra from the Civil Engineering Department of

IIT Kanpur to come and tell you about Japanese culture. H-he has stayed in Japan for a very
long time and-he has worked over there. So, he has good knowledge of culture and their
customs and how the Japanese people think and their lifestyle. So, he is going to share some
of his experiences with you today and -he-is going to tell you about the Japanese calendar. So,

let us listen to what he has to say.

Konnichiwa minasan. Hajimemashite. Watashi wa Misura Sudhiru desu.F) master-gGood
afternoon to all of you and it is a pleasure to be here. M=my name is Sudhir Misra and as
Vatsala sensei (Fl)-sinee-t said I have been in Japan for a long time and I am happy to have
this opportunity to talk to you about the Japanese calendar.

(Refer Slide Time: 36:43)
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Credit: https://notesofnomads.com/japanese-date-system/

Now let me show you this slide. Let us see-whteh-says-that+s what is written here and what is
missing from this calendar, which is for January that is ichi-gatsu.~— H @) you know that,
this is the gatsu /@) part of it this ichi.~—@). So, you know that this is the calendar
for January but what you do not know is, what year are we talking about? We are talking
about heisei san-juu nen,” ~U > L = [-4E, @) that is heisei -~ 1| he-say year
thirty. Now what is this year thirty of heisei "~ | )? he-say¢That is what we want to talk

about today.
(Refer Slide Time: 37:19)

+ Japan has a reigning monarch or emperor

* Today we spend some time know how the reign of the
emperor is related to the calendar followed in Japan

* This calendar is in addition to the western or Gregorian

calendar

So, getting started, I do not know how many of you know that Japan has a reigning monarch
or an emperor. Without getting into the politics or the political science as to what is the power

of the emperor, whether it is similar to the British monarchy or the Indian presidential system



and so on, we are only interested in the calendar; the fact that there is a monarch and an

emperor that is something which is related to the Japanese calendar.

So, today we will spend some time to know, how the reign of the emperor is related to the
calendar followed in Japan. This calendar of course is in addition to the western the
Gregorian calendar.

(Refer Slide Time: 37:59)

Schematic 2
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——
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D
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Normally A, B, C and D are names of the persons, who are ruling
and let W, X, Y and Z be the names of the eras (‘jidai’)

associated with the reigns of A, B, Cand D

Now moving forward I will try to use some schematic diagrams to explain this concept to
you. This is different points in time let us say time T, T-=1, T--2, T--3. Tthese are different
points in time. Now at some point in time there is an emperor A, who is ruling. That reigns
ends here.empire; B's reigns start here and goes up to this point.-emperer;- Cs reigns starts

here goes up to this point,- and let us say that the reigns of the emperor D is continuing.

So, this is what we would expect. and this, what happens duringatien-ef the reign of an
emperor is taken as a period or ‘era or jidai /=1  , (Fl) that is what is very interesting
to note about Japanese calendar. -that-tlt is related to the duration of the reign of an emperor
A, B, C and D. If there are different emperors the names of those emperors-there will be
different eras associated with them. In other words there is W, X, Y and Z the names of the

eras or the jidai - L /= @) which is associated with the reigns of A, B, C and D.



In other words let us say the reign of emperor A is W jidai~ U'7=> @the reign of
emperor B is X jidai ~U/=0)@) Y jidai” U720 @) and Z jidai ~ L /=0 @ ). So,
there is an era W, an era X, and era Y, and an era Z.

(Refer Slide Time: 39:26)

* During the reign, the emperor is referred to as
‘tenno heika’, which roughly could be translated
as ‘His excellency the emperor’

» After his reign, the emperor (of a period) is
referred to by ‘<jidai> tenno’. For example, it is
clear that Showa Tenno ruled during the Showa

era, and Meiji Tenno ruled during the Meiji era

During the reign the emperor is referred to as tenno heika”CTA @ 1))@k which
roughly could be translated as his Excellency the emperor. So, the tenno.~ A @) is the
emperor and heika. "~ /) @) roughly translates to his Excellency. Tthese are the things
that you can probably Google and look up the internet and try to understand a little bit more
after his reign the emperor of a period is referred to by jidai U 7=\ @) and the tenno.~ T

/v O@E). So, if you are reading in X jidai L /= "@¥) that emperor will be called X tenno
S TAD, themkmow=for example it is clear that the Shouwa tenno. L k215 TAD
@) ruled during the sShouwa L J 9 7@ era, the meiji tenno.” 1> L TAOEFE)
ruled during the Mmeiji~ > @) era.

So, going back to this diagram this jidai - L /= @) will be known as the W jidai /=
/@) and it is clear that emperor A ruled in that; this jidai " U 7=\ @) will be known as
X jidai U 7= @) and it is known that empire bB ruled here. T+the Y jidai ~ U /= @)
emperor Ce ruled here, and the D jidai~ U 7=\ @) will come later. So, during this reign

this person here, this person here, this person here and this person here they are just called the
tenno heika,” TA D  ~ 7> @). So, the tenno heika,” TA D -~ @) which is

the emperor his Excellency or his Excellency the emperor that is the reigning monarch and



after that reigns the person referred to by the jidai " L 7=\ ‘@) name and then no associated

with that.
(Refer Slide Time: 40:59)

Periods in modern Japanese history

Meiji (B34 (1868 - 1912)

| mei  bright Heisei FRE (1989 - 2019)
A ji/ chi politics, government, hei even, flat, peace
administration, rule g sei turn into,
; p become, get
£ ’ ]
Taishou (K1) (1912 - 1926) e
x tai large, big reach
iE shou correct, justice,
righteous Reiwa Hf (2019 - present)
5 rei laws, command,
Shouwa BA#0 (1926 — 1989) good
- B 0 wa harmony, peace

72} shou shining, bright
b5 wa harmony, peace

Now what are the periods in modern Japanese history? So, if you talk to Japanese people you
will find that they always talk in terms of a modern Japanese history and of course the past
history. So, in the modern Japanese history which roughly starts in 1868 there was Meiji
tenno,” DU TADEFE. So, Meiji.” 1> U@ is the name of the jidai LU /=1)>
&) and Meiji tenno.” O U T A O@EE) ruled from 1868 to 1912; that was followed by
Taishou tenno,” 7= L k- 9  CTAD, Taishou,” 7=V L J 5@ is the name of the jidai
U720 @) and (TTaishou tenno.” 720> L & 5 T A OdFE)-there-ne rule from 1912 to
1926.

Similarly, Sshouwa tenno.” L k1 94> T/A O@EFE) ruled from 1926 to 1989 this was
followed by H-heisei "~ "l @) which started in 1989 went up to 2019 and now from
2019 onwards we are living in the rReiwa jidai ~ #1017 L 7= @ . Now it is interesting
to see that all these jidai’@)s have two characters associated with it. Mmeiji 61> [,
Taishou,” 7=V L k& 9, Sshouwa,” L k 9 7, Hheisei,”~V &\ @) and Rreiwa,~ F11)

&) 1 am leaving it to you as an assignment to Google and find out how the selection is

made for these two characters. It-t is a very interesting exercise, a very scholarly exercise.



And a lot of scholars and =historians, everyone gets together and identifies these two
characters from the point of view that they should be easy to pronounce, they should be easy
to write and most importantly perhaps the message that goes out with the two characters. So,
if you look at Mmeiji.~" &> U@ for example you are familiar with kanji and the fact that

each kanji has a certain meaning associated with it.

Meiji.~"& > C@F) is bright and politics government administration rule and so on. So, it is
something like bright administration if you want to call it that way. Taishou.~ /=1 L & 9
&) is, tai~A@) is large you are familiar with words like daigaku ~ A% @) shou.~
L - 9w is correct. So, basically the message that was sent across is, its righteous
governance. Similarly, sShouwa ~ 7} is shining bright and harmony and peace. Heisei
V@) is even, flat and peace. T-that is the sei ~/7ay part of it and the sei "/ same-

part of it means ts-turn into, or become, or-get grow....... etapse-reach out etc.

So, there is this element of message that goes out. the.=Reiwa 77 /@) is laws, command,
good harmony, and peace. So, that is the message that has to be conveyed by the particular
Jjidai U 7= @) to not only the people themselves but also to the rest of the world.

(Refer Slide Time: 43:38)

* Once a new era starts, the count begins
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So, moving forward once the new error starts the count obviously begins with one. I-n other,
words the year in which the change takes place can therefore be identified on two scales. T-

the last year of the older era and the first year of the newer era. So, now if we go back to this



slide, you will notice that 1912 is the end of the mMeiji.~ ¢ | > @) era and also the start of
the tTTaishou.” 7= > L k- @) era. Similarly, 1926 is the end of the t7Taishou.” /= L k
J@F) era and the start of the sShouwa ~ A7) era. Year 89 is the end of sShouwa,~
L & 9 @) era and is the start of hHeisei.” 1 @) era. 2019 end of Hheisei
VU @) era and -is start of rReiwa, 711 @) era.

Now what really happens is that we know that there are 12 months; January February March
April; ichi-gatsu.~—H, ni-gatsu.”"H, san-gatsu.~— 5 @) and so on and so forth, right
up to 12, and there are certain number of days associated with each of these months. Now if a
particular era goes up to this point and ends, that is, the new emperor takes over here, the new

jidai U 7= ) starts here. What it means is that as far as the previous era is concerned it

will have only let us say, if this was go-gatsu muika ~ 7= 7 7~ @), that is, 6th of Mmay -

Fthen up to 6th of may will be designated as the last year of this era or the last dates or the
last days of this era, and this era will start with the next day. So, I am leaving it to you as an
assignment again, to actually find out when did the transition happen in 1912, 1926, 1989,
2019. So, these four years I have given you but I have not given you the actual days. Please
try to find out when did the actual transition happen. Now I hope you understand this part
which is how the era changes.... right.

(Refer Slide Time: 45:57)
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68 se] 1984 | 7 an 3a 30| 2018 |m o o

https://notes .com/jap: d;

Now moving forward there is another interesting thing that happens when we follow thtse

eras, which are associated with the emperor's reign. So, for example this is the western



calendar and this kind of a page is often inserted in a diary in Japan which enables you to
convert the Gregorian calendar to the Japanese calendar and to determine how old a person is

in that particular year.

So, in a Gregorian calendar it is much simpler. If you are born in 1910 or 1950 or whatever,
it is 1980 and, 1950, thirty years old nineteen forty nineteen ten thirty years old but if the
erarer changes, then age computation becomes more challenging, and this kind of a ready

reckoner helps you. So, what this says is? Taishou.” /=1 L 1 9@¥) show 6 is 1917 and in

the present age that is the diary that we are looking at or the time that you are looking at you

will be 101 years old.

If you were born in 1921, that is T7aishou.~ 7= > L k- @) then you will be 97 years old.,
Iif you were born in Sshouwa ~ L J- 9 7>@) ten, which is 1935, you would be 83 years old
and so on. So, if you look at this part also, you find that 1926, there is Shhouwa ~ L k= 9 1>
@), one which is written here, that is, Sshouwa gan-nen.” L J 97> o4 and
Taishou.” 7=\ > L & o @) 15. Similarly, =if you look at 89, you will find Sshouwa .~ L J 9
Foshew was-sixty four and Hheisei gan-nen,”~ > #1>  Jo4@E). aAnd that is Hheisei ~
UL hey=say-one of course Hheisei U171 ) he=say-two is 19909 because that is the
year that follows 1989.

So, there is something very interesting and now we have the answer to the first slide that is
Hheisei 30,F) refers to 2018 and of course a person born in 2018 and if we are talking of
2018 would be zero years old. So, that is the interesting part of the Japanese calendar, there is
one more column in this table which we are going to talk about later and that column is this
one I will probably come back and talk to you sometime about this column.

(Refer Slide Time: 48:14)
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Now where all this is useful is a form like this. Very often we kind of have to fill out forms. O-
of course in the online world things have become slightly different, -but in the offline world it
was quite different and this is a form which is for a pharmaceutical questionnaire. So, here we
write whatever day you are talking about, that is, the particular year or the day when you are

applying over you are filling out the form.

Then you have this part here which is name which is often in kanji. So, here is the furigana
where you write it in typically hiragana, and this is juusho.~ {1777, @) whereteh you write
the address, this is denwa-bango@¥) which is the telephone number. So, you fill this out
then male/-female you fill that out. ilnteresting part is say sei-nen-gappi " 32/.73 > OF
&) which is the year of your birth. Now for the year of the birth you have to circle you may
say Sshouwa L k 2 >@k) 29 ni-gatsu.” _H, tsuitachi.”— H @3)or whatever your
year of birth is.

OrSes-if you are born in Hheisei ~ -~ @) you will say Hheisei ~~\ 1 2@ to
whatever the month and the date. So, this is how these forms are designed in the older forms
where the date of birth had to be given in the Japanese calendar. ©f-eeurseOf course, in the
modern times I guess most of the forms have now been redone and you can write here 1990
or 2001 or whatever the western calendar says. So, as I mentioned this is the first slide and
now we know that Hheisei san-juu-nen.” -~ 41> = -}-4he-says-@FI) is nothing but twe
2018.



So, this particular image has been taken out of the calendar for January of 2018 and you
would like to verify it. P-please do that and you would have a better understanding of what
things are all about; in Japan typically the emperor's name is not uttered. But of course, as far
as historians are concerned there are names associated with them, and of course, they had
their own names and I am leaving to you as a homework to find out from books internet as to

what were the names of the emperors mMeiji.~ &>\ U, tTTaishou.” 7=v> L J 9, Sshouwa.”
L & 2, Hheisei.” ~U @) and Rreiwa. 110 o).

And with this I come to an end of our discussion today and I must thank all my Japanese
friends for educating me on this and I must apologize to them as well in case there is an error
in what [ have communicated to you. I have communicated to you what I understood, what I
found was fascinating as far as the calendar is concerned in this day and age, and thank you

so much.

So, I hope you enjoyed what sir had to tell you about Japanese eras you can also find on the
net and see what they are and I hope that you will also complete the assignments that he has
given you. So, there is lots more to tell as sir has already said.

(Refer Slide Time: 51:21)

Vocabulary
ikkagetsu Lo iFD one month
shashin LeLlAa photo, picture
toru 3] to take (a photo)
daisuki KiFE like very much
oyogu B&EE to swim
shumi L& hobby
gita- Fa— guitar
kaku < to write
kondo CAE this time
kimochi RIS feeling, mood
ganbaru AV ) to do one's best

And I am sure he is going to give us all kinds of interesting information about Japanese
culture and Japanese people their lifestyle their way of living their culture their habits how to
interact with them how they interact with everybody. And I am sure sir Misra-has a lot of

experience of that he will share some of his experiences with us. So, we all look forward to it.



(Refer Slide Time: 51:49)

potential form for group Il
noun ga dekiru / A* TE3
~Kkoto / ~C &
~ koto ga dekiru / ~Z& A TES

And here I would like to also thank sir for giving us his precious time. So, with this I would
like to end our class today. Lot of things have been done potential form for group three has
been covered with dekiru.~ T & 5. There are a few things left which we will cover in
our next class till then practice hard at home do the conversation with your partner and come

prepared for the next class we are going to do something interesting there as well. Mata

aimashou,” £7= RV FE Lk 9. Arigatou gozaimasu,” » VD 34 5 TXWF T



